Ha4FHEXED1

A FL HH 1T il +=

A FL i S <
W E S % 2024007330 & AFLEATH SFM7HE3H3H
T #H % 4 PR X E R EREGETHE (£05)

REAT (A St

AL B A LT B8

Hopy RS ol o 3 ORI 1 5 )

i THER L =144.6m W=16.0m

WBLT —
BEktEED T —=K
N ST —t
TR KEMT —3t
THY i) %5 F ASMTHEIHA25H ~ ek GGERD AfM7THFE11A28H
3 il +A—-KTEHE BRI 15 il BRAF — 5 358 4 A KL
& A F D - e “ e . AL
= ﬁ:ﬁ 2o o % f//]: %IEJ\*L%E %2@7\*’4%’,\ %1@%*ﬁ§\ (5%7]::)
1 HMRXEHSENYORERESEXE 36, 847, 000
e IR 44 AT
2 ARSI AR 36, 840, 000
(e IR A 45 AT
3 | BREEHERREH 36, 881, 000
e IR A 44 AT
4 PV bRIEEESE ST 36, 885, 000
e IR A 44 AT
5 T & LEFRMEKESH 36, 809, 000
(e IR A 45 AT
6 |MEE At 36, 819, 000
(e B IR 45 AT
T CIREEHMASt 36, 868, 000
(e IR A 45 AT
8 | K bR Tk At TR
9 |BtFTERREH 36, 870, 000
e B IR A 44 AT
10 |BRS thHEAR B 5% 36, 889, 000
(e A IR 45 AT
11 B 7 ket 36, 889, 000
(e A IR 45 AT
12 [ BERSth=EM 36, 859, 000
(e A IR 45 AT
13 | W E sk st 36, 888, 000
(e A IR 45 AT
14 JEEmBkR et 37, 348, 000 O
15 #kSttiboe T¥ERT 36, 525, 000
e B IR A A AT
T E M K 45,067,000 [f & 1 R 1 #% 40, 635, 100 [¥% #L Ml #% 41, 082, 800
(BiEk) 40, 970, 000 (Bith) 36, 941, 000 (BiEk) 37, 348, 000
(1/2) (HAr - M)




Ha4FHEXED1

A FL HH 1T il +=

A FL i S <
W E S 2024007330 & AFLEATH SFM7HE3H3H
T #H % 4 PR X E R EREGETHE (£05)

REAT (A St

AL B A LT B8

Hopy RS ol o 3 ORI 1 5 )

i THER L =144.6m W=16.0m

LT —
BEktEED T —=K
HEET —3
TR KEMT —3t
THY i) B SMTHE3IHA25H ~ ek GERY AfM7HE11A28H
3 il +A—-KTEHE BRI 15 il BRAF — 5 358 4 A KL
% AW &F D e e - " AL
= ﬁ:ﬁ 2o % f//]: w5l IE]]\*L%’E o2 IE]]\*L%’E w5l @%*ﬁgﬁ (5%7]::)
16 BRSOl T 3¥ERT 36, 864, 000
(O 561 R K A1)
17 |BRRSthtm s 36, 834, 000
(O 151 R B A1)
18 ket v T 36, 854, 000
CHR 151 R B A1)
19 | HRESM S 37, 349, 000
20 \BRRSALEREREE TR
21 BHAEESRSHT 36, 865, 000
(O 5 R B A1)
22 | HEH RS 36, 861, 000
(O 151 R B A1)
23 MRS AH I THL TR
24 |\ HI T TEARSH 36, 896, 000
(O 51 R B A1)
25 A= T 36, 892, 000
(O 151 R B A1)
26 MIBEEFESERN ST 36, 917, 000
CHR 51 R B A1)
T E N O 45,067,000 [ 1% #1 [B ffi #& 40,635,100 |¥% #L ffi % 41, 082, 800
(Bidk) 40, 970, 000 (Bidk) 36, 941, 000 (Bidk) 37, 348, 000
(2/2) (HAr - M)




